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F: Output Linearization (OL) data DE89/10L/L89EO2FP.DAT in File (F)
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Landoalt-rings W-N
Picture C4: Landolt-rings W-N; PS operatomvww* setrgbcolor

code: background-ring
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Radial grating (Siemens-star) N-Z Radial grating (Siemens-star) W-Z line raster diameter inIpi
Picture C1: Radial gratings (Siemens-stars) N-W, W-N, N-Z and W-Z; PS operatorvww* setrgbcolor Picture C5: Line raster under 45° (or 135°); PS operatmw* setrgbcolor
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@ Picture C3: 16 visual equidistalit-grey steps; PS operatavww* setrgbcolor
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